



Vendor Ranking

Page 1 of 1

 Letting:
 06210325
 March 25, 2021 11:00AM
 Call Order: 006
 Contract:
 E6N68

 District:
 District 6
 Counties:
 MIAMI-DADE
 Fed Aid No: N/A

Contract Time: 548 CALENDAR DAYS

Project(s): 44520747201 (*)

Contract Desc: MOWING MIAMI-DADE COUNTY - ROUTINE MAINTENANCE

Rank	Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	SUPERIOR LANDSCAPING & LAWN SE	Responsive	Winning bid	\$364,724.46	100.00%
2	AERO GROUNDTEK LLC	Responsive	Non-Winning Bid	\$365,660.69	100.26%
3	BELLA FIORE LANDSCAPING LLC	Responsive	Non-Winning Bid	\$373,667.22	102.45%
4	KNIGHT PROPERTY MANAGEMENT SERVICE, INC.	Responsive	Non-Winning Bid	\$594,615.52	163.03%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.





Tabulation of Bids

Page 1 of 4

 Letting:
 06210325
 March 25, 2021
 Call Order:
 006
 Contract:
 E6N68

 District:
 District 6
 Counties:
 MIAMI-DADE
 Fed Aid No:
 N/A

Contract Time: 548 CALENDAR DAYS

Project(s): 44520747201 (*)

Contract Descr: MOWING MIAMI-DADE COUNTY - ROUTINE MAINTENANCE

Electronic bids are requested for a Work Order Driven Contract that consists of providing labor, equipment and materials to perform mowing, litter removal and edging on various sections of State Roads 94, 989, 5, 992, 990, 986, 994, 90 and 825 in Miami-Dade County.

Visit www.bidx.com for more information.

	No / Item ID	Alternate	Quantity Units	(1) SUPERIOR L & LAW		(2) AERO GRO	UNDTEK LLC	` '	A FIORE
	dicates item is bid as L	ump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION: 000	1 (L	ARGE MACH	IINE MOWING (AC					
0005 MOWIN MACHI	- (JLAR/LARG	1,411.695 E AC	29.00000	40,939.16	18.00000	25,410.51	70.00000	98,818.65
0010 MOWIN	E104 4 3 NG (SMALL MACHIN	E)	2,440.743 AC	66.00000	161,089.04	49.00000	119,596.41	70.00000	170,852.01
0015 MOWIN	E104 4 4 IG (INTERMEDIATE	MACHINE)	469.476 AC	66.00000	30,985.42	65.00000	30,515.94	60.00000	28,168.56
0020 LITTER	E110 30 REMOVAL		5,770.020 AC	13.00000	75,010.26	9.00000	51,930.18	7.00000	40,390.14
0025 EDGIN	E110 32 2 G		3,543.786 MI	16.00000	56,700.58	39.00000	138,207.65	10.00000	35,437.86
	0001 LARGE MA MOWING		tion Totals:		\$364,724.46		\$365,660.69		\$373,667.22



04/01/2021

Tabulation of Bids

Page 2 of 4

Letting:	06210325	March 25, 202	1 C a	all Order: 006		Contract:	E6N68	
Line No / Item		ite Quantity Units	• •	LANDSCAPING WN SE	(2) AERO GR	OUNDTEK LLC		LLA FIORE CAPING LLC
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount	
Contract Grand Totals:			\$364,724.46		\$365,660.69		373,667.22	





Tabulation of Bids

Page 3 of 4

Letting	g : 06210325 M	arch 25, 202 [,]	1 Cal	l Order: 006		Contract:	E6N68	
	No / Item ID Alternate Description	Quantity Units	(4) KNIGHT F					
() inc	dicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION: 0001 (L	ARGE MACH	IINE MOWING (AC	;				
0005 MOWIN MACHIN	,	1,411.695 E AC	24.63000	34,770.05				
0010 MOWIN	E104 4 3 G (SMALL MACHINE)	2,440.743 AC	150.00000	366,111.45				
0015 MOWIN	E104 4 4 G (INTERMEDIATE MACHINE)	469.476 AC	75.00000	35,210.70				
0020 LITTER	E110 30 REMOVAL	5,770.020 AC	24.63000	142,115.59				
0025 EDGINO	E110 32 2 G	3,543.786 MI	4.63000	16,407.73				
	0001 LARGE MACHINE Sec MOWING (AC)	tion Totals:	'	\$594,615.52		'		

Contract Grand Totals:

\$594,615.52



04/01/2021

Tabulation of Bids

Page 4 of 4

Letting: 06210325

March 25, 2021

Call Order: 006

Contract:

E6N68

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.